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A detailed guide to characteristics and selection of various capacitor and

inductor types can be found in:

H. B. Drexler, Passive Electronic Component Handbook, 2nd ed., C. A.

Harper, ed. New York: McGraw-Hill, 2003, pp. 69-203.

C. 1. Kaiser, The Inductor Handbook, 2nd ed. Okthe, Kans.: C.J. Publish-

ing, 1996.

Two books that describe capacitor-based op amp cir-uits are:

R. Mancini, (ed.). Op Amps Are For Everyone, Znd ed. Amsterdam:

Newnes, 2003.

W. G. Jung, Op Amp Cookbook, 3rd ed. Upper Saddle River, N.J.: Prentice

Hall, 1997.
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